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1.1. 000

googbooobooobooo,bobobbooboboboob 200,300,k000O
gbboggbbouogbbuooobboobboobboobbooob.boobobo
gogboboboogbobobboooobobooobn.

1.1.1. OO0

o000 G= (VA (Oooooooooo)oooo,Go0o0o20wd 0000,
w00 0v0000000000,G000000 (connected) 000, G0O0O0O0O00O0O
(connected graph) 00 0. 0000000000000 OOOOO,DFSO BFSOOO
gogoooon.

0000oooooouoo G=(V,A)ODooOo,00000oooooooo Goo
000 (connected component) OO0O. D00, HO GOOO0OOOOOOOODOOO
oo,

() HO GO0O0ODoDooooooog,
(i) HOOOOOOODODOOOoOoOoOoUoo Goooogouoooooooo

ggboobogd.

1.1.2. 2000

000 G=(V,A)0O0O0O0O0OoUCvoooo,v\uooooooooooao (=
000 p6) GIV\U]O,G\UDO0.000,

G\U=GOO0O,v0uvo00000o0ooooooooooooo

000. U010000000000,0000={}0000,G\{v}000000
G\vDOOO.



(a) (b)

0 1.1: (a) GOUCV (b) G\U

G=(V,A)DOUOOOOOooOoOoO. G\v0000000000000000 (artic-
ulation vertex) 00 0. 00000000000, 000000 200 (2-connected) O
O000.000,0010 (0000000000 O0)0O000O0C0OO0O0oOoOO,20
goooooo.

000000 G=(V,AOOUOO,00000 200000000 GO 200000
(2-connected component) O 00O

1.1.3. 3000,4000,-,k000

G=(V,A)02000000000.G000020w0200000,G\{u,0}000
00000,G0300000 (3-connected) 000. 000,00020 (000000
000000)0000000000000300000000

000 k>400000000,G=(V,A)0k000000000

U< k0000000000000 U0UO00000,G\U000000000,GOk
000000000.000,000!1<40(000000000000)000000
0000000 .A00000000.

0110 770000 GO,s3000000400000.0007

1.1.4. k0O0O0O0O

O00GO,GO0000k—-100000000000DO00O00O00ODO0O0O0DO,kO0O
(k-edge connected) DO O OO .
kODOD,00000000000O0,k000000D0O00.

012 0 1.70000 GO, 2000,s80000000,4000000A0.



